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If the solutions of £(x)=0 are 1 and 2. then the solutions of f( ): 0 are
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The domain of the function defined by f(x) =In(x” ~4) is the set of all real numbers x such that

(E) x is areal number
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I £(x1)+ £ (x2) = £ (x,+x,) for all real numbers x; and x, , which of the following could
define f?
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If the domain of the function f given by f(x)= is {x{|x|>1}. what s the range of £?
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The graph of 3> =x”+9 is symmetric to which of the following?
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The figure above shows the graph of a sine function for onc complete period. Which of the
following is an equation for the graph?

(A) y:Zsin[%x] (B) y=sin(nx) (€) y=2sin(2x)

(D) y=2sin(nx) E) y

in(2x)
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If lim f(x) = L. where L is a real number, which of the following must be true?
va

(B) f(x) is continuous at x=a.
(C)  f(x) isdefined at x=a.

D fl=L
(E) None of the above
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What is the domain of the function f given by f(x) =
(A) {x:x=3} ®)  {x:|x]<2} © fx:|x|z2}
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If £(x) :Ll. then the inverse function, £~ is given by f71(x)=
X+
x-1 x+1 x

x

@) ®) © ®

x x 1-x x+1

® x




image19.png
‘Which of the following does NOT have a period of 7 ?

@) f(X):sinGX) ®) f()=]sinx| © f@)=sin’x
D@ fE=tanx ® fE=ta’x
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If f(x)=e"sinx, then the number of zeros of f on the closed interval [0,2n] is
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The graph of which of the following equations has y =1 as an asymptote?
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Let f and g be odd functions. If p, 7, and s are nonzero functions defined as follows. which must

be odd?

L p()=/(s()
L (0= f0)+g()
M 5= (g
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If the function £ is continuous for all real numbers and if £(x)= when x#-2,

then f(-2)=

(A) -4 ®) -2 © -1 D) o (E® 2
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Ifhis the function given by h(x) = f(g(x)). where f(x)=3x>~1 and g(x)=|x|. then h(x)=
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The fundamental period of 2cos(3x) is
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The graph of y = £(x) is shown in the figure above. Which of the following could be the graph
of y=f(|x|)?
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What are all horizontal asymptotes of the graph of y = f* ; in the xy-plane?
(A) y=-1only
(B) y=0 only
(©) y=5 only

(D) y=-land y=0

(B) y=—land y=5
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Let f be a function that is continuous on the closed interval [2, 4] with f(2) = 10 and f(4) = 20. Which of the
following is guaranteed by the Intermediate Value Theorem?

(A) f(x) = 13 has at least one solution in the open interval (2, 4).
®) f(3)=15
(C) £ attains a maximum on the open interval (2, 4).

(E) f(x)> 0 forall x inthe open interval (2, 4).
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If f(x)=x>+3x% +4x+5 and g(x) =5. then g(f(x))=

(A) 5x2+15x+25 (B)  5x +15x7+20x+25 (©) 1125
D) 225 ® 5
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Which of the following equations has a graph that is symmetric with respect to the origin?

@ y=X*b B) y=-r 43 © y=x'-22+6

© y=(x-17+1 ® y=(2+1) -1
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If f(x)=2x>+Ax’ + Bx—5 andif £(2)=3 and f(-2)=-37. what is the value of 4+ B?

“) -6 ® -3 © -1 ® 2

(E) Tt cannot be determined from the information given.
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Suppose that £ is a function that is defined for all real numbers. Which of the following conditions
assures that f has an inverse function?

(A) The function f is periodic.
(B) The graph of f is symmetrie with respect to the y-axis.

(D) The function £ is a strietly increasing function.
(E) The function £ is continuous.
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Let f(x)=cos(arctan x) . What is the range of f?
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Let f(x)=
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